-		TABULATION OF BIDS									<u> </u>			
		Installation of Enhanced Pavement Marking and New Milled Rumble Strip at Various Locations, Maui, Molokai, and Lanai												
	PROJECT NO.:													
	ISLAND:	Molokai - Area 5					. 그 사이 하게 어떻게 보았다	CKHOE AND	하루바다 얼마 없는데 있다. 그리고 있다.	STRIPING	PAVE-T	ΓECH INC.	DEPAR	OF HAWAII RTMENT OF
	TYPE CODE:	21					EXCAVATI	ON CO, INC.	SERVI	CE, INC.				PORTATION AYS DIVISION
	DATE ADVERTISED:	January 19, 2023												
		February 16, 2023	** NOTE: Qua	ntities										
	COMPLETION TIME	T	shown in these of	divortional productions										
5	COMPLETION TIME:	Tweive (12) Months	are for in-hous **APPROX.	e use.	APPROX.									
	ITEM NO.	ITEM	QUANTITY	UNITS	맛이 바이트 보고 있어졌다. 환경시험하다.	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
	615.0110	16-Inch Milled Rumble Strip, Centerline (1,000-25,000 LF)	25,000	LF	25,000	LF	\$1.36	\$34,000.00	\$0.80	\$20,000.00	\$0.60	\$15,000.00	\$0.96	\$24,000.00
	615.0111	16-Inch Milled Rumble Strip, Centerline (25,001-50,000 LF)	50,000	LF	50,000	LF	\$1.12	\$56,000.00	\$0.80	\$40,000.00	\$0.60	\$30,000.00	\$0.96	\$48,000.00
	615.0112	16-Inch Milled Rumble Strip, Centerline (50,001-100,000 LF)	100,000	LF	100,000	LF	\$0.77	\$77,000.00	\$0.80	\$80,000.00	\$0.60	\$60,000.00	\$0.96	\$96,000.00
	615.0115	12-Inch Milled Rumble Strip, Edgeline (1,000-25,000 LF)	25,000	LF	25,000	LF	\$1.36	\$34,000.00	\$0.80	\$20,000.00	\$0.40	\$10,000.00	\$0.84	\$21,000.00
	615.0116	12-Inch Milled Rumble Strip, Edgeline (25,001-50,000 LF)	50,000	LF	50,000	LF	\$1.12	\$56,000.00	\$0.80	\$40,000.00	\$0.40	\$20,000.00	\$0.84	\$42,000.00
	615.0117	12-Inch Milled Rumble Strip, Edgeline (50,001-100,000 LF)	100,000	LF	100,000	LF	\$0.77	\$77,000.00	\$0.80	\$80,000.00	\$0.40	\$40,000.00	\$0.84	\$84,000.00
	615.0118	12-Inch Milled Rumble Strip, Edgeline (100,001-250,000 LF)	250,000	LF	250,000	LF	\$0.59	\$147,500.00	\$0.80	\$200,000.00	\$0.40	\$100,000.00	\$0.84	\$210,000.00
	629.1010	4-Inch Pavement Striping (Thermoplastic Extrusion) (1,000-25,000 LF)	25,000	LF	25,000	LF	\$1.35	\$33,750.00	\$1.30	\$32,500.00	\$1.00	\$25,000.00	\$1.35	\$33,750.00
	629.1011	4-Inch Pavement Striping (Thermoplastic Extrusion) (25,001-50,000 LF)	50,000	LF	50,000	LF	\$1.35	\$67,500.00	\$1.30	\$65,000.00	\$1.00	\$50,000.00	\$1.35	\$67,500.00
	629.1012	4-Inch Pavement Striping (Thermoplastic Extrusion) (50,001-100,000 LF)	100,000	LF	100,000	LF	\$1.06	\$106,000.00	\$1.30	\$130,000.00	\$1.00	\$100,000.00	\$1.35	\$135,000.00
	629.1015	6-Inch Pavement Striping (Thermoplastic Extrusion) (1,000-25,000 LF)	25,000	LF	25,000	LF	\$1.89	\$47,250.00	\$1.70	\$42,500.00	\$5.00	\$125,000.00	\$3.15	\$78,750.00
	629.1016	6-Inch Pavement Striping (Thermoplastic Extrusion) (25,001-50,000 LF)	50,000	LF	50,000	LF	\$1.42	\$71,000.00	\$1.70	\$85,000.00	\$5.00	\$250,000.00	\$3.15	\$157,500.00
	629.1017	6-Inch Pavement Striping (Thermoplastic Extrusion) (50,001-100,000 LF)	100,000	LF	100,000	LF	\$1.30	\$130,000.00	\$1.70	\$170,000.00	\$5.00	\$500,000.00	\$3.15	\$315,000.00
	629.1018	6-Inch Pavement Striping (Thermoplastic Extrusion) (100,001-250,000 LF)	250,000	LF	250,000	LF	\$1.06	\$265,000.00	\$1.70	\$425,000.00	\$5.00	\$1,250,000.00	\$3.15	\$787,500.00
	629.1020	8-Inch Pavement Striping (Thermoplastic Extrusion) (1,000-25,000 LF)	25,000	LF	25,000	LF	\$6.61	\$165,250.00	\$2.00	\$50,000.00	\$5.10	\$127,500.00	\$3.33	\$83,250.00
	629.1021	8-Inch Pavement Striping (Thermoplastic Extrusion) (25,001-50,000 LF)	50,000	LF	50,000	LF	\$5.31	\$265,500.00	\$2.00	\$100,000.00	\$5.10	\$255,000.00	\$3.33	\$166,500.00
	629.1022	8-Inch Pavement Striping (Thermoplastic Extrusion) (50,001-100,000 LF)	100,000	LF	100,000	LF	\$2.04	\$204,000.00	\$2.00	\$200,000.00	\$5.10	\$510,000.00	\$3.33	\$333,000.00
	629.1025	12-Inch Pavement Striping (Thermoplastic Extrusion) (1,000-25,000 LF)	25,000	LF	25,000	LF	\$6.84	\$171,000.00	\$6.00	\$150,000.00	\$5.40	\$135,000.00	\$4.50	\$112,500.00
94	629.1026	12-Inch Pavement Striping (Thermoplastic Extrusion) (25,001-50,000 LF)	50,000	LF	50,000	LF	\$3.54	\$177,000.00	\$6.00	\$300,000.00	\$5.40	\$270,000.00	\$4.50 Sheet No. 1 of 4 St	\$225,000.00

Sheet No. 1 of 4 Sheets

	TABULATION OF BIDS							<u> </u>					
PROJECT NO.: ISLAND: TYPE CODE: DATE ADVERTISED:	Installation of Enhanced Pavement Marking and New Milled Rumble Strip at Various Locations, Maui, Molokai, and Lanai PROJECT NO.: HSIP-0900(105) ISLAND: Molokai - Area 5 TYPE CODE: 21 TE ADVERTISED: January 19, 2023 BID OPENED: February 16, 2023		ntities				CKHOE AND ON CO, INC.		STRIPING CE, INC.	PAVE-T	ECH INC.	STATE OF DEPARTM TRANSPOR HIGHWAYS	MENT OF RTATION
COMPLETION TIME:	Twelve (12) Months		shown in these columns are for in-house use.										
OCIVII ELITOR THATE.	TWOIVE (TZ) WOTTER	**APPROX.		APPROX.		30 - 100 A 100 - 100 A 1		4. 9 4100 000 000 000 000 000 000					000.40.002240.0000000000000000000000000
ITEM NO.	12 Inch Dayon ant Strining (Thormanicatic Extracion)	QUANTITY	UNITS	QUANTITY	UNIT USED	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
629.1027	12-Inch Pavement Striping (Thermoplastic Extrusion) (50,001-100,000 LF)	100,000	LF	100,000	LF	\$1.89	\$189,000.00	\$6.00	\$600,000.00	\$5.40	\$540,000.00	\$4.50	\$450,000.00
629.1030	Double 4-Inch Pavement Striping (Thermoplastic Extrusion) (1,000-25,000 LF)	25,000	LF	25,000	LF	\$2.04	\$51,000.00	\$2.00	\$50,000.00	\$5.80	\$145,000.00	\$2.28	\$57,000.00
629.1031	Double 4-Inch Pavement Striping (Thermoplastic Extrusion) (25,001-50,000 LF)	50,000	LF	50,000	LF	\$2.04	\$102,000.00	\$2.00	\$100,000.00	\$5.80	\$290,000.00	\$2.28	\$114,000.00
629.1032	Double 4-Inch Pavement Striping (Thermoplastic Extrusion) (50,001-100,000 LF)	100,000	LF	100,000	LF	\$1.53	\$153,000.00	\$2.00	\$200,000.00	\$5.80	\$580,000.00	\$2.28	\$228,000.00
629.1035	4-Inch Pavement Striping (Profiled Thermoplastic) (1,000-25,000 LF)	25,000	LF	25,000	LF	\$4.13	\$103,250.00	\$2.50	\$62,500.00	\$5.00	\$125,000.00	\$2.34	\$58,500.00
629.1036	4-Inch Pavement Striping (Profiled Thermoplastic) (25,001-50,000 LF)	50,000	LF	50,000	LF	\$3.54	\$177,000.00	\$2.50	\$125,000.00	\$5.00	\$250,000.00	\$2.34	\$117,000.00
629.1037	4-Inch Pavement Striping (Profiled Thermoplastic) (50,001-100,000 LF)	100,000	LF	100,000	LF	\$2.36	\$236,000.00	\$1.80	\$180,000.00	\$5.00	\$500,000.00	\$2.34	\$234,000.00
629.1100	Crosswalk Marking (Thermoplastic Extrusion) (1-50 Lanes)	50	LN	50	LN	\$312.70	\$15,635.00	\$500.00	\$25,000.00	\$485.00	\$24,250.00	\$471.00	\$23,550.00
629.1101	Yield Line (Thermoplastic Extrusion) (1-50 Lanes)	50	LN	50	LN	\$295.00	\$14,750.00	\$300.00	\$15,000.00	\$100.00	\$5,000.00	\$204.00	\$10,200.00
629.1102	Pavement Arrow (Thermoplastic Extrusion) (1-50 EA)	50	EA	50	EA	\$277.30	\$13,865.00	\$400.00	\$20,000.00	\$275.00	\$13,750.00	\$297.00	\$14,850.00
629.1104	Pavement Word (Thermoplastic Extrusion) (1-25 EA)	25	EA	25	EA	\$354.00	\$8,850.00	\$400.00	\$10,000.00	\$210.00	\$5,250.00	\$276.00	\$6,900.00
629.1106	Pavement Symbol (Thermoplastic Extrusion) (1-50 EA)	50	EA	50	EA	\$354.00	\$17,700.00	\$400.00	\$20,000.00	\$155.00	\$7,750.00	\$243.00	\$12,150.00
629.2011	Type C Pavement Markers (1-5,000 EA)	5,000	EA	5,000	EA	\$7.08	\$35,400.00	\$6.00	\$30,000.00	\$2.00	\$10,000.00	\$5.40	\$27,000.00
629.2012	Type C Pavement Markers (5,001-10,000 EA)	10,000	EA	10,000	EA	\$6.49	\$64,900.00	\$6.00	\$60,000.00	\$2.00	\$20,000.00	\$5.40	\$54,000.00
629.2013	Type D Pavement Markers (1-5,000 EA)	5,000	EA	5,000	EA	\$7.08	\$35,400.00	\$6.00	\$30,000.00	\$2.00	\$10,000.00	\$5.40	\$27,000.00
629.2015	Type H Pavement Markers (1-250 EA)	250	EA	250	EA	\$11.21	\$2,802.50	\$6.00	\$1,500.00	\$2.00	\$500.00	\$5.40	\$1,350.00
629.2016	Type H Pavement Markers (251-500 EA)	500	EA	500	EA	\$7.08	\$3,540.00	\$6.00	\$3,000.00	\$2.00	\$1,000.00	\$5.40	\$2,700.00
629.2018	Removing and Disposing Crosswalk Marking (1-50 Lanes)	50	LN	50	LN	\$295.00	\$14,750.00	\$550.00	\$27,500.00	\$615.00	\$30,750.00	\$429.00	\$21,450.00
629.2019	Removing and Disposing Yield Line Marking (1-50 Lanes)	50	LN	50	LN	\$236.00	\$11,800.00	\$550.00	\$27,500.00	\$100.00	\$5,000.00	\$180.00	\$9,000.00
629.2020	Removing and Disposing Arrows, Words, Symbols (1-125 EA)	125	EA	125	EA	\$236.00	\$29,500.00	\$300.00	\$37,500.00	\$582.00	\$72,750.00	\$469.20	\$58,650.00
629.2021	Removing and Disposing of Existing Pavement Striping (1,000-25,000 LF)	25,000	LF	25,000	LF	\$1.53	\$38,250.00	\$0.55	\$13,750.00	\$3.50	\$87,500.00	\$2.70 Sheet No. 2 of 4 Sheet	\$67,500.00

	TABULATION OF BIDS	,		-		7		·					
PROJECT:	Installation of Enhanced Pavement Marking and New Milled Rumble Strip at Various Locations, Maui, Molokai, and Lanai												
	HSIP-0900(105)											0 18 SANTO 17 ATO	
ISLAND:	Molokai - Area 5	** NOTE: Quantities				TOM'S BAC		회사장에 및 리스웨어 하게 되었다. 이번	STRIPING	PAVE-	TECH INC.	DEPAR	OF HAWAII RTMENT OF
TYPE CODE:	21					EXCAVATION	ON CO, INC.	SERVI	CE, INC.				PORTATION AYS DIVISION
DATE ADVERTISED: BID OPENED:	January 19, 2023 February 16, 2023												
COMPLETION TIME:	Twelve (12) Months	STATE OF THE PARTY	shown in these columns are for in-house use.										
2019/50/48/50 H 11 TOSHANA NAME		**APPROX.	- 5 1 - 6 - 6 - 6 - 6 - 6 - 6 - 6 - 6 - 6 -	APPROX.	LINUTLIGES	LINUT DDIOE	AMOUNT	LINUT DELCE	****			TRUT BEIGE	I I I I I I I I I I I I I I I I I I I
ITEM NO. 629.2022	Removing and Disposing of Existing Pavement Striping	QUANTITY	UNITS	9	UNITUSED	UNIT PRICE	AMOUNT #70 500 00	UNIT PRICE	AMOUNT ©27.500.00	UNIT PRICE	AMOUNT	UNIT PRICE	
	(25,001-50,000 LF)	50,000	LF	50,000	LF	\$1.53	\$76,500.00	\$0.55	\$27,500.00	\$3.50	\$175,000.00	\$2.70	\$135,000.00
629.2023	Removing and Disposing of Existing Pavement Striping (50,001-100,000 LF)	100,000	LF	100,000	LF	\$1.12	\$112,000.00	\$0.45	\$45,000.00	\$3.50	\$350,000.00	\$2.70	\$270,000.00
629.2024	Removing and Disposing of Existing Pavement Striping (100,001-250,000 LF)	250,000	LF	250,000	LF	\$0.89	\$222,500.00	\$0.45	\$112,500.00	\$3.50	\$875,000.00	\$2.70	\$675,000.00
629.2025	Removing and Disposing of Existing Pavement Striping (250,001-500,000 LF)	500,000	LF	500,000	LF	\$0.47	\$235,000.00	\$0.45	\$225,000.00	\$3.50	\$1,750,000.00	\$2.70	\$1,350,000.00
629.2027	Removing and Disposing of Temporary Pavement Striping (1,000-25,000 LF)	25,000	LF	25,000	LF	\$0.53	\$13,250.00	\$1.00	\$25,000.00	\$2.25	\$56,250.00	\$1.65	\$41,250.00
629.2028	Removing and Disposing of Temporary Pavement Striping (25,001-50,000 LF)	50,000	LF	50,000	LF	\$0.30	\$15,000.00	\$0.75	\$37,500.00	\$2.25	\$112,500.00	\$1.65	\$82,500.00
629.2029	Removing and Disposing of Temporary Pavement Striping (50,001-100,000 LF)	100,000	LF	100,000	LF	\$0.18	\$18,000.00	\$0.50	\$50,000.00	\$2.25	\$225,000.00	\$1.65	\$165,000.00
629.2030	Removing and Disposing of Temporary Pavement Striping (100,001-250,000 LF)	250,000	LF	250,000	LF	\$0.12	\$30,000.00	\$0.25	\$62,500.00	\$2.00	\$500,000.00	\$1.65	\$412,500.00
629.2031	Removing and Disposing of Temporary Pavement Striping (250,001-500,000 LF)	500,000	LF	500,000	LF	\$0.12	\$60,000.00	\$0.25	\$125,000.00	\$2.00	\$1,000,000.00	\$1.65	\$825,000.00
629.2033	Removing and Disposing of Existing Pavement Markers (1-10,000 EA)	10,000	EA	10,000	EA	\$3.54	\$35,400.00	\$1.00	\$10,000.00	\$0.10	\$1,000.00	\$1.26	\$12,600.00
629.2034	Removing and Disposing of Existing Pavement Markers (10,001-25,000 EA)	25,000	EA	25,000	EA	\$3.54	\$88,500.00	\$1.00	\$25,000.00	\$0.10	\$2,500.00	\$1.26	\$31,500.00
629.2035	Removing and Disposing of Temporary Pavement Markers (1-10,000 EA)	10,000	EA	10,000	EA	\$1.30	\$13,000.00	\$1.00	\$10,000.00	\$0.10	\$1,000.00	\$1.26	\$12,600.00
629.2036	Removing and Disposing of Temporary Pavement Markers (10,001-25,000 EA)	25,000	EA	25,000	EA	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.10	\$2,500.00	\$1.26	\$31,500.00
629.3000	Pavement Marking Layout for New Pavement	FA	FA	FA	FA	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
632.1000	Reflector Marker, Type A Delineator (RM-3) (1-100 EA)	100	EA	100	EA	\$165.20	\$16,520.00	\$125.00	\$12,500.00	\$40.00	\$4,000.00	\$42.00	\$4,200.00
645.0100	Traffic Control (Shoulder Closure, per day, Bid Amount Not to Exceed \$6,000) (1-180 WD)	180	WD	180	WD	\$2,985.40	\$537,372.00	\$1,500.00	\$270,000.00	\$200.00	\$36,000.00	\$850.00	\$153,000.00
645.0200	Traffic Control (Flagging Operation for Contra-flow, per day, Bid Amount Not to Exceed \$9,000) (1-180 WD)	180	WD	180	WD	\$2,985.40	\$537,372.00	\$4,500.00	\$810,000.00	\$5,000.00	\$900,000.00	\$1,250.00	\$225,000.00

Sheet No. 3 of 4 Sheets

	(2) (3) (3) (1)-10	ľ	1		9	1		f		1	-		
	Installation of Enhanced Pavement Marking and New Milled Rumble Strip at Various Locations, Maui, Molokai, and Lanai												
	HSIP-0900(105) Molokai - Area 5					TOM'S BACKHOE AND		CENTRAL STRIPING		PAVE-TECH INC.		STATE OF HAWAII DEPARTMENT OF	
						. 그 하면 가게 가게 되었다. 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그 그	ION CO, INC.	12 20 20 20 20 20 20 20 20 20 20 20 20 20	CE, INC.	FAVE-	TECH INC.	TRANSF	ORTATION
TYPE CODE:												HIGHWA	YS DIVISION
DATE ADVERTISED: BID OPENED:	January 19, 2023 February 16, 2023	** NOTE: Qua	ntities										
COMPLETION TIME:	Twelve (12) Months	shown in these c	SECURIOR SECURIOR SE CASTA DE SERVICIO										
		**APPROX.		APPROX.	LINIT LICED	LINUT DDICE	AMOUNT	LINUT DDICE	AMOUNT	LINUT DOLOE	AMOUNT	LINIT DRICE	ANACHINIT
ITEM NO. 645.0300	ITEM Traffic Control (Lane Closures, per lane, per day, Bid Amount Not to		UNITS	0	UNIT USED	× .	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT
043.0300	Exceed \$4,500) (1-180 WD)	180	WD	180	WD	\$3,540.00	\$637,200.00	\$4,500.00	\$810,000.00	\$450.00	\$81,000.00	\$975.00	\$175,500.00
645.1000	Electronic Message Board (each, per day, Bid Amount Not to Exceed \$2,250) (1-180 WD)	180	WD	180	WD	\$354.00	\$63,720.00	\$500.00	\$90,000.00	\$2,250.00	\$405,000.00	\$830.00	\$149,400.00
645.2000	Additional Police Officers, Additional Traffic Control Devices, and Advertisement	FA	FA	FA	FA	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
	Sum of All Items - Molokai - Area 5					a	\$6,319,476.50 *		\$6,720,750.00		\$13,152,750.00		\$9,446,600.00
							* Corrected Figure						
							** Bid Rejected						
	I certify that this is a true and correct tabulation of bids for this project.												
	Larry Hail F	eb 24, 2023											
	Larry Hail, Project Manager	Date	-									Chast No. 4 of 4 Ch	o o t o
												Sheet No. 4 of 4 Sh	eets